


Exam practice

1. Identify and describe two differences between a church and a sect.

2. Why do certain types of religious beliefs appeal to members of certain social groups?

3. ‘Religion today is not in decline; rather, religious beliefs and practices are simply undergoing change.’ Assess this view in the light of sociological evidence and arguments.
4. How do a) Functionalists, b) Marxists c) Feminists see ‘religion’?

Answers

Exam practice

1. Exam tips: in a sect there is often less division between leaders and ordinary members. Churches are likely to be linked to the state (Troeltsch). Sects are often persecuted by the state.

2. Use sociological theory. Weber and Marx. Weber: theodicy of disprivilege. (Religions of the poor offer explanations of their misfortune.) Marx: religions supply the oppressed with an opiate to dull the pain of the oppression. Religion justifies the privileges of the ruling-class. Evidence that could be used includes material on new religious movements. Halevy: Methodism and the working class. Niebuhr: a sect becomes upwardly mobile.

3. Define the terms and link them to the question. (Durkheim’s definition makes it impossible for religion to decline.) Distinguish between religious beliefs and religious practices. Religious practices: church attendance; baptisms; marriages, funerals; private/TV worship. Problems of measuring these practices. Consider religious beliefs – are there different types? (Scientology, ISKCON.) Can religion decline AND change? Wilson: the changes are symptoms of the religion’s decline.
4. Functionalists (Durkheim) see religion as performing essential functions. Example: social integration through shared beliefs and rituals. Marxists see religion as part of the superstructure of society shaped by the economic base. It helps prevent change by promoting ideologies justifying inequality. Feminists argue that religion maintains a patriarchal society. God is male. Religion supports (Feminists argue) traditional gender roles.
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